Time to complete 50 KiB request to public server

~— moria ~— op-hk4 = op-nl ~— op-us ~— op-us8a
~— op-ab —— op-hk5 == op-nl2 ~—— op-us2 ~—— op-us8a—-conflux
~— op-de6ba =—— op-hk6 == op-nl3 ~—— op-us3 ~—— siv
~— op-de7a =— op-hkéa ~— op-nl4 -~ op-us4 ~—— torperf
Source
~— op-de8a =— op-hk7 == op-nl5 -~ op-us5
~— op-hk —— op-hk7a == op-nl6 ~—— op-us6
~— op-hk2 == op-hk8a == op-nl7 ~—— op-us7

~— op-hk3 == op-hk8a-conflux == op-nl7a ~—— op-us7a
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The Tor Project — https://metrics.torproject.org/



